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Extraction Method of Hodoscope Efficiency

®© Method:
»  Selecting good muon tracks and requiring inclusive CT event.
»  Extrapolated tracks to each hodoscopes and requiring special hodoscopes cut. (Sample 1)

»  Looping hits from this events and check corresponding hits was found in this slab or neighboring slabs
(slab#=1). (Sample 2) [* For HGO2Y1/Y2 extend to slab#+2]

»  Slab Efficiency = (Sample 2)/(Sample 1)

Cut on Hodoscopes
For all of hodoscopes:
Shrink the edge by 2.5 cminxand y
Shrink the edge of slabs by 20% of slab size iny

Selection Criteria
Skip if there is no outgoing particle
Skip if there is no vertex
Skip if XX0 < 30
Skip if x2/ndf > 10
Skip if Zrirst > 300 cm
For LAS event:

For HGO1:
Enlarge the dead zone by 2.5 cminy

skip if pu < 10 GeV/c
skip if #hits from muon wall A <6
For SAS event:
skip if ZLast < 4200 cm
skip if pu < 20 GeV/c
skip if #hits from muon wall B + MWPCs(PB) < 6
skip if CrossYokeSM2() == true

Enlarge the dead zone by 10 cm in x

For HGO2Y1 and HG02Y2:
Shrink the edge by 10 cm in x (only on overlap region)

For HG02, HO03, HOO04:
Enlarge the dead zone by 2.5 cmin xand y
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HGO1Y1 Hodoscope Efficiency

80 = - — —0.9

60 F . ._.. ..- ] .. : " ) —08

o
bo

0.7

y(HGO1Y1_ )(cm)

y(HGO1Y1_ )(cm)
|
)
y(HGO1Y1_ )(cm)

40 =T e TR = —07

o
o)
S
=

20E ]

-

S
()]
Efficiency
o
| TTTTI |
[
i
sl -!
| 1] 1] |
S
()]
Efficiency

|
=)
> Efﬁi)ienc? Diff. (w.r.t TrigRun)

(@)
~
|
(W)
(@)

3
"
-
(@)
~

0.3 40 = = =03 0.

PO3t7 TrigRun

0.2

0.2 ~60 =

0.1 -80 - 0.1

] | ] ] ] ] | ]
-100 =50 0 50 100 -100 -50 0 50 100 0

x(HGO1Y1__)(cm) x(HGO1Y1__)(cm)

O
in

......................................................................................................................................

<
~
|

80 et N N T = oo

60— 2 L0 L —038

=
(V)
|

S
(\9
|

|
(e}
y(HGO1Y1_ )(cm)

y(HGO1Y1_ )(cm)

0.7 40 =i ) = T %

o
o)

S
()
Efficiency

V() e _ b IAreENR -
- TR

do ]
o
@)\

Efficiency Diff. (w.r.t TrigRun)

S
()
Efficiency

)
~
|
[\
@)
<
~

0 0t T — |03

Efficiency(CaloDump) - Efficiency(TrigRun)

PO3t7 CaloDump

02 00— eI 0.3
= L T x B :

0.1 20 - T i o1 04

| | | L1 1 1 | I T | | [ I | L1 1 1 | I I | | [ I | |
~100 =50 0 50 100 ~100 =50 0 50 0o %0 5 10 15 20 25 30

x(HGO1Y1__)(cm) X(HGO1Y1__)(cm) Slab# (HGO1Y1_ )

11 Sep 2020 3 /18



HGO02Y1 Hodoscope Efficiency

EZOOJ— [ [ [ [ [ [ [ [ [ [ [ | | [ [ [ [ [ [ I_ _]. /é\zoo_l_ [ [ [ [ [ [ [ [ [ [ [ [ [ [ [ [ [ [ [ I_ _1 @200_1_ [ [ [ [ | | [ [ [ [ ] _0.5
2 E = L E ] Sk =
al: 1 —09 7L 1 709 il 4 04
— 150 = = —150= = — 150 =
S F - — 1 —os & 1 03
S 5 S F —— 1 = m [
C = 100:—h]5.i—: S ey = 2 100F = =
50 = — 50 = — 50F — =
m - . ] > B ] 06 > : ~ ] 0.1 :
T B - O B - Q m B
e - - 5 n . 5 n z
h 0 — . § 0 — = ] 0.5 § m 0 — 0 o
- E = - E = "= - - A
S - 04 ™ - : 04 ™ = - = 0.1z
e _50= _ ‘ —50= = ' - =50 =
™ = ] = —— = ; = = S
(@) . 181023 . ' 18103 . 1F1-0.22
0 _100= = _100= . = O 100 = =
- 1802 - 1802 q:, 18 03
-150 = — -150—— — " m— -150 | —
N 1=0.1 N 1B=0.1 0O N — T B 0.4
_200 _-l_ | | | | | | | | | | | | | | | | | | | | | | | I__ 0 _200 —_l_ | | | | | | | | | | | | | | | | | | | | | | | I__ O t _200 _-l_ | || | | | | | | | | | | | | | | | | | I__ _O 5
0 50 100 150 200 0 50 100 150 200 LL 0 50 100 150 200 ‘
x(HGO2Y1_ )(cm) x(HGO2Y1_ )(cm) I x(HGO2Y1_ )(cm)
Q
é\zOOi—l | | | | | | | | | .:l'.1 | [ | | | | [ [ | I__ _1 /é\zoo_l_l.llill.l [ .I. | [ I. [ .I o [ [ [ [ [ [ [ |__ _1 E /g 0.5:
° — = ] Q L n e P e T = a% u
SR T {09 T Cinsswsene — 1 =09 =3 S R S S
— — — —_— — o C . ap e — ~ L
o & I — 150 > - A £ |
a 1 —0.8 a T 1 —0.8 o) R s
E % 100: : % 100:_ . En b st s s ol el “.."--.-Hr:-;ix._-_-.;—_.. — _: — : E
= ES 1 —07 EQ TR—r—— bt S 0.7 8 e R s Rt COS S
0 50 — 06 50= L — — 06 ~— c:f
O n - ] 0 5 n EREE L v 0 o > k>
(- B ] 8 B . ..--:-i.'ﬁ'h"' ] g o é
(@) - - - &= - r— — am )
- 04 ™ - — Jhos ™ "=
b -50 :— | E -50 :— et _ _: .9
™ oo 10103 oo ' S . — 103 = 02
o Ve = Ve — LL
ﬂ. E E 0.2 E E 02 03
-150 = = ~150 = AT P =
N 1=0.1 - 3 B 1B=0.1 _0.4F
_200_ | | | | | | | | .:.| | | | | |. | | | | | | I__ _200_ | | | | .ll [ 1 | T | | I- | | | | | | | | | | | |__ —0 5:| — | L1 1 | 11 | S | L1 1 | 11 | I
0 50 100 150 200 0 50 100 150 200 0 5 10 15 20 25 30
x(HGO2Y1_ )(cm) x(HGO2Y1_ )(cm) Slab# (HGO2Y1_ )

11 Sep 2020 a/18



HG02Y2 Hodoscope Efficiency

g 200 [T I I I I I I I I I I I I I I I I I I I _l_ ] ]. /é\ 200 [T I I I I I I I I I I I I I I I I I I I _I_ ] 1 /é\ [T I I I | I I I I | I _0.5
2 F = L E ] S L - [
= 1 —09 1 E ] 09 1k -4
~ 150 5 = & 1505 = ~ 150
= T F . = F . = TF
S 1 038 S 1 028 S —0.3
c 2 100 = 2 100E = £ 100 6
=) = E 1l —0.7 = E 1 07 — = 02 &
o = = = = c = 2
— — — — =
0 SO 1l —os 0L 1 o6 > >0 01 =
u — - _ Q — _ Q _ =
- - ] 5 - ] : s 1z
= OF —F=105 5 s 005 2 (@) 0 El
— — E — — E . ] E
N~ - . & - . & S .
e _50= 04 50 = —|i0-4 - =50 01 5?
™ _ - _ — ; - k>
o 185103 n - 185103 18022
0 -100 = = ~100= = o ~100 = 2“5
_ N 102 . 1802 q:, . - 0.3
~150 = = -150= — O -OE g mE
: = & : s 0O : —= = = 0.4
_200 _I | | | | | | | | | | | | | | | | | | | | | | | 0 _200 _I | | | | | | | | | | | | | | | | | | | | | | | O t _200 _I | | | |. | | | | | | | || | | | | _O 5
200  -150  -100 -50 0 200  -150 100 -50 0 LL 200  -150  -100 -50 0 ‘
x(HG02Y2__)(cm) x(HG02Y2__)(cm) 1 x(HG02Y2_)(cm)
p—
_ _ Q
/é\ 200 _I I T I | T T T T T T T T I I T I I I I _L 1 €200 _I I I I I I I I I I I I T I I ) ..I I . I I _L 1 E /E 0.5 :
S B = 2 E LRI AL i & u
a: 4 —0.9 aN: - = ——=—g K =5 (BB (04
o~ 150 — o 150 = L — = -
o150 5 - ot 150F - A < ¢
Q S 1 038 S 1 038 o) R R e S
= 2 100 = = 2 100 = = T = F
S 1 =07 T D : 1 o7 s Es
= T E = L = O A
Q 50_— ] 06 50_— - ] 06 ' ?
O - B 2 - = . _Cali o > 8
— - e 7] = C -...-"'" o 5 iy 7] = O ::)
S Js 205 8 o = 4505 2 - &
— | [ — ] (Ba
O ; & : _ .= [T
N =50 = — 0.4 S0 — — 04 (&)
# — — — ) - - — N
o 0o = 1§03 e y 103 = 0.2
o e = T B e e = LL
al - —— 102 - e 2 03
-150 = i ] -150 = RS _ —
5 — 1=0.1 5 : 0.1 0.4
- = = - % . -
_200_||||.||||||.II|IIII|IIII O _200_||||||||I|IIII|IIIII|IIII O _05_IIII|||||||||||IIII|IIII|IIII|I
200  -150  -100 ~50 0 200  -150 100 -50 0 =0 5 10 15 20 25 30
x(HGO2Y2__)(cm) x(HGO2Y2__)(cm) Slab# (HGO2Y2_ )

11 Sep 2020 5 /18



HOO3Y1 m Hodoscope Efficiency

I T 1T 1 _0.5

I T 1T 1 | T 1T 1T T 1T 1 T 1T 1 L ]. I T 1T 1 T 1T 1 T 1T 1 T 1T 1 L 1

N
@)
|
|
N
@)
|
|

40 =

o
bo

0.7

y(HOO3Y1_m)(cm)
y(HOO3Y1_m)(cm)
y(HOO3Y1_m)(cm)

o 0.7

[\
o
|
|
[\
o
|
"
|

|
|

o
N
|

|

S
o)}
S
—_

-

T
|
(@)
~
T

)

-~
|
(@)
~

|
>

|
=)
> Efﬁi)ienc? Diff. (w.r.t TrigRun)

PO3t7 TrigRun
T
|
Effl(:ency
T
|
Efflgllency

—20 _20 ! ._. ol . . e~ .-I .
- 1 . 4803 - T, i e S L 4503

- 1802 - o A T 1802

0.1 0.1

—-100 -50 0 50 100
x(HOO3Y1_m)(cm)

] | ] ] ] ] | ] ] ] ] | ] ] ] ] | ] ] ] ] | ] ] 0 ] | ] ] ] ] | ] ] ] ] | ] ] ] ] | ] ] ] ] | ] ] O
—-100 -50 0 50 100 -100 -50 0 50 100

x(HOO3Y1_m)(cm) x(HOO3Y1_m)(cm)

O
in

Efficiency(CaloDump) - Efficiency(TrigRun)

N I I I I I I I I I I I I I I I I I I I 1 7~ I I I I I I I I I I I I I I I I I I I 1 —_
g — | 7 QS) I~ | e L A 7] 5 E
ol B 1 —o9 T L i i 1 —o9 B e e
I I —~ -
= 40= — = 40= — ~ F
Q ! 1 —o0s A - A : 1 —o0s K |
- ] ) ~ PR R ] 2 -
E % I % e, ] SRR - o -
= ] = B il Tl L AR - ] = 0000000 SPUSSSSSSOOS FRSRSSNINS NS
= = B =07 = ool ARG R ] =07 = 0.2¢
a - S e N
1p =06 _ C . 1006 _ U e A S
o — Q = - ) o — L
r— 5 5 2 F
(qv] =105 5 0= =055 m 0
i 04 B PR - 0.4 _
N N — . !' ':’.'. . .|l- .: —
e 220 -* 1 . S i
o 0.3 2 M e 103 0.2

0.2 - MR = AR e 02 03

0.1 — 0.1 04

_I|IIII|I|. .Illlll_ _I|IIII|IIII|IIII|IIII|II_ _05:IIIilIIiIIIilllilllilllilllilllilll

|IIII
~100 ~50 0 50 100 ~100 ~50 0 50 100 0 2 4 6 8 10 12 14 16 18
x(HO03Y1_m)(cm) x(HO03Y1_m)(cm) Slab# (HO03Y1_m)

11 Sep 2020 6 /18




HOO4Y1 m Hodoscope Efficiency

N [T [ [ [ [ [ [ [ [ [ [ [ [ [ [ [ [ [ [ [ ] _]. N [T [ [ [ [ [ [ [ [ [ [ [ [ [ [ [ [ [ [ [ ] _1 N [T [ [ [ [ [ [ [ [ [ [ [ [ [ [ [ [ [ I I 1 _0.5
5 100 — 5 100 — 5 100
’gl . . 1 =09 @l . 1 =09 ’gl —04
% T 4 038 Z T 4 028 % 03
c S F = S F = 3 =
<
T 50— — T 50— — T 50 5
é < _ i 0.7 =4 _ i 0.7 _E X 2 %0
— : — : =
o)) I 1 o6 _ I 1 o6 _ -3 0.1 =
= : i N e W o ;
- 5 5 Z
= 0 055 01— 0535 (®)) 0 0
! ] = ! ] = — =
i i -
S - 104 - 04 = 0.1
(op) I | I | i~ 5
= = = = > 023
E _50— 1003 _50 . N 03 O 50 O'Qt.;j
— ] _ - ] :
0.2 0.2 03
I i I i Q
N 180.1 N 1B0.1 0O 04
_100F = _100F = _100F =
t | | | | | | | | | | | | | | | | | | | | | | | |— 0 t | | | | | | | | | | | | | | | | | | | | | | | |— O t t | | | | | | | | | | | | | | | | | | | | | | | |— _05
50 100 150 200 250 50 100 150 200 250 LL 50 100 150 200 250 '
x(HOO04Y1_m)(cm) x(HO04Y1_m)(cm) i x(HOO04Y 1_m)(cm)
p—
/é [T [ [ [ [ [ [ [ [ [ [ [ [ [ | | [ [ [ [ —] _1 /é\ [T [ [ [ [ [ [ [ [ [ [ [ [ [ [ [ [ [ [ [ ] _1 Q /E 0.5_
5100 = — 8100 = — E 2 F
— | I = | i en I S S SRS SR UUUUN SUUSOREURSRRS SRRUURRRUEURR SUUSRRS SUSRN
fl : . 0.9 fl SR S . 0.9 8 = 0.4:
SO S LE fa M o - B
Q Z r 1 o8 Z e (K o) T B -
- : s ! A o
L 50— ] L 50— ] (40} e O RO NSRS NN S N N N
= = 1 07 =g 1 o7 O = 02
0 I 1 o6 I 1F o6 = g
(o) - 17 = - N > > 5
| | | et | Q
f— § = § o E
O l i - _ N, = B
X | — | — E
o _sol . 5103 _solE g —1F=023 = -0.2
- m ] P : T ] LL]
0. 0.2 e _ < 0.2 03
N 1B0.1 N 1B0.1 _0.4F
~100 = ~100 = -
—I'III|IIII|IIII|IIII|IIII|— 0 —I'III|IIII|IIII|IIII|IIII|— O _OS_III|III|III|III|III|III|III|III
50 100 150 200 250 50 100 150 200 250 0 2 4 6 8 10 12 14 16
x(HO04Y1_m)(cm) x(HO04Y1_m)(cm) Slab# (HO04Y1_m)

11 Sep 2020 7 /18



HOO04Y2 m Hodoscope Efficiency

~ 1 I I I I I I I I I I I I I I I I I I H _]. ~ 1 I I I I I I I I I I I I I I I I I I H _1 ~ 1 I I L I I I I I I I I I I I I I T _0.5
5 100 — 5 100 — 5 100

g T 1 —0.9 0 1 —0.9 2 0.4
g| — . — S| — i S|

S T 1 —038 z T 1 038 % 0.3
W——— s E - :

T YL | o7 T 2L | —o7 T 20 0.2

|

|
g
@)

|

|
-
@)
-
—_

-

(@)
~
<
~
|
<

PO3t7 TrigRun
HC’
] |
Effl(:ency
T
] |
Efflgllency

50— - | 0.3 50— 5 A 3 - o 0.3

= 0.2 = 0.2

- . 0.1 - B0.1
~100 ~100

1 ] | ] ] ] ] | ] ] ] ] | ] ] ] ] | ] ] ] ] | | Tl ] ] | ] ] ] ] | ] ] ] ] | ] ] ] ] | ] ] ] ] | ] ]
—-200 -150 -100 =50 0 0 -200 -150 —-100 -50 0 0

x(HO04Y2_m)(cm) x(HO04Y2_m)(cm)

-100

] ] | ] ] ] ] | ] ] ] ] | ] ] ] ] | ] ] ] ] | | Tl .
-200 -150 -100 -50 0 0-5

x(HO04Y2_m)(cm)

~ T | | | | | | | | | | | | [ | | | | [ H _1 ~~ T | | | | | | | | | | | | | | | | | [ H _1 N 0.5
o=
5 100 _ 5 100 — E
e 4 —09 N LT R TR : -+ =009 B e S s o
I - | - X L e T . =
S ] o[ R =z
2 0.8 2 — —— ——— 08 S0 | U U W S W S S S -
2 50 — =z 50— - T e e o I T e
4 | 0.7 4 B _ 0.7 E 02
] - ] Y
1 —os . 1 —os 2 0.1
i 3 m | O 35,
0 58 0 — 05 -2 =H
— =05 2 — — — o
ea) 8

)
~
<
~

...................................................................................................................................

Efficiency(CaloDump) - Efficiency(TrigRun)

PO3t7 CaloDump

=02 : . L o 02 03

o [ BT B P e &

-100 | ~100 i i i i i i i
1 | | | | | | | | | | | | | | | | | | | | | | | Tl 1 | | | | | | | | | | | | | | | | | | | | | | | Tl _O 5 L 1 1 | L 1 1 | L 1 1 | L 1 1 | L 1 1 | L 1 1 | L 1 1 | L 1 1

~200 ~150 ~100 ~50 0 ~200 ~150 ~100 ~50 0 0 2 4 6 8 10 12 14 16
x(HO04Y2_m)(cm) x(HO04Y2_m)(cm) Slab# (HO04Y2_m)

11 Sep 2020 WAL




16

= i =)
3) i 1_
mw_ ............................................................................................................................................ MMW
% 1 2
m ............................................................................................................................................ ID_W\
= 1 5
e — N

............................................................................................................................................ |m

............................................................................................................................................. oo

............................................................................................................................................. o

........................................................................................................................................... .

............................................................................................................................................. T

_ _ _ ____m____m____m____m________m____m____m____m____lo

\n = \ = e = 0 = Y N 9y = o = o0 <
n N h " T Y b it S o o o < T 9 I <9 9

(wo)(p~ T AYOIWH)A (unYSLLL, I M) “JJrqg Aouaronyyg

(unybuap)Aousioiyy - (dwingojen)Aosuaioiyy

ICIencCy

- Kouaroryyg Kouaroryyg
f QA ® 8 N % 0 N QN ® & 9 v % 0 o
4_1 ﬂ_u % =) =) O S S - =) O 4_1 n_U n_U S O - O - =) S n
E T _ T _ T T _ T I T 1 _ I [ _ L _ I ~ T _ T _ T T _ T I T I _ I [ _ [N _ I ~— -m
B o = L | . | 8F | | Jo = | le)
O 1_ ] o - . Hk 8 \O 1_ n
e |z I @©
- <t | o= - <t
| -} B -l 1 o n—
- B | A | o = =
B s = B | | B IS O
1 = 4 1 %
- ...” i - u
o : |O : | |O Y
Q\ - @\
= I =
s - 19 - 19
o _ g _ b |G e
L 11l _ I | _ L1l _ I | L 111 _ | 1 _ L1l 1 _ _ L 1l _ L 11l ._ _ [ _ I I | _ | | | _ [ _ _
O B s 8% %5 % 3
(WR)(P~ TAYOIWH)A (Wo)(P~ TAYOIWH)A
o FelilfelAis Kouaroyg
S Q » O ) < SH N — S
I__ T Tl _ T T _ T T 0 _ T T ______ ______ __| \m) |__ T T _ T T _ T T _ T T ______ ______ __I \m)
- {8 = 18 3
d | | m : : 4V|l“
- 1 0= - 1 0
- o5 | o
_ — 1S ¥ =
B N > B 7] =
JEE— i s - s
q\ @\
> B Lo 1
<J B L I
B 19 B 19
o N e B g o
____________________ ______ ______ _ _ ____________________ ______ ______ _ _ 2
T8 4§ 8§ 4 5 3 7 T8 4 § § 35 5 % o
(WR)(P~ TAYOIWH)A (Wo)(P~ 1 A¥OINH)A N
Q
I ®
unybuyl 21e0d dwngoled 21€0d s
1



iciency

pe Eff

O
O
7,
O
d
®,
L
-
1
>~
<
O
>
L

B o

\O
B o

4
B o

@\l
— O
i )
B ¢
i =)
1, | M
R & = pA = &Q S
(wo)(n™ 1 XAy OINH)A

(unybuip)Aousioiyg

Kduaroryyy

|
|
60
x(HMO04Y1_u)(cm)

|
|
40

|
|
20

!
|
-20

|
40

Lol b L
v
@ <

35
30=
25—

g
S
(wo)(n™ [ XPOINH)A

Kouaroryy

|
|
60
x(HMO04Y1_u)(cm)

40

|
|
20

!
|
-20

|
—40

| | L]
e
@ <

(wo)(n™ [ AFOINH)A

35—
30=
25—
20=

L
o
4

unybuy 21£0d

x(HMO04Y1_u)(cm)

L
12 14 16

Slab# (HM04Y1_u)

|
10

____m____m____m____m________m____m____m____m____lo
1 <. ) N — O — N N < i
°c o < <o ° T 9 9 9 9
(UNYSHL, ¥ I m) “PIq Louardyy

- (dwingojen)Aouaioiyy

Kouaronyyg

|
|
40
x(HMO4Y1_u)(cm)

|
|
20

I |
v
@ <

|
40

25—

|
Ta) =
o A

Kouaroyg

L
S
4

(wo)(n™ 1 X YOINH)A

|
|
60
x(HMO4Y1_u)(cm)

40

|
|
20

|
40

|__ | |
')
@ <

(wo)(n™ [ AFOINH)A

35

30 =
25—
20=

L
o
4

dwngoije) 21£0d

c
-m
=
o)
c
-m
IS
?
-
>

11 Sep 2020



HMO5Y1 d Hodoscope Efficiency

g
3
-
s 2
o
L2
=
|—
N=
=
™
(-
o B
B
3
o =
E =
o TS
0
L)
©
o
N~
£
m
-
0.

__I | | I | I | I | I | I | I | | I__
-40 =20 0 20 40 60 80

x(HMO5Y1_d)(cm)

__I | | I | | I | | I | | I | | I | | I | | | I__
-40 =20 0 20 40 60 80

x(HMO5Y1_d)(cm)

0.9

0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.1

0.9

0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.1

Efficiency

Efficiency

y(HMO5Y1_d)(cm)

y(HMOS5Y1_d)(cm)

__I | | I | I | I | I | I | I | | I__
-40 =20 0 20 40 60 80

x(HMO05Y1_d)(cm)

__I | | I | | I | | I | | I | | I | | I | | | I__
-40 =20 0 20 40 60 80

x(HMO5Y1_d)(cm)

09

0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.1

0.9

0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.1

Efficiency

Efficiency

Efficiency(CaloDump) - Efficiency(TrigRun)

y(HMO5Y1_d)(cm)

e
(98] ~ )]

S
S}

Efficiency Diff. (w.r.t TrigRun)

-40 =20 0 20 40 60 80
x(HMO5Y1_d)(cm)

2 4 6 § 10 12 14 16
Slab# (HMOS5Y1_d)

o
bo

)
—_

-

|
>

11 Sep 2020 11/18



HMO5Y1 u Hodoscope Efficiency

/é\ 60__I [ L L L L L 1T 1 I I__ _1 /é\ 60__I I L L L L L L I I__ _1 /é\ 60__I I L L L L L L T _0.5
s = = 2 = = L -
3k 1 =09 5 L 1 —09 EX 0.4
— 55 — — 55— — — 55
‘>’; - -4 —0.8 m - 71 —0.8 ‘>’-“ 0.3
S r i S r ] S T
c % 50= — % S50= — % 50 =
é < F 1 —0.7 = L 1 —0.7 E < 02 &
O) = —~ s = = s - 45 0.1 2
T B i Q B i Q m ;
- n ] = n . = B
= 40 = o5 2 40F — =05 3 o)) 40 0
= = qq: = = qq:: » - =
N - ] = - ] T - ~
™ m ] m - ~l 5
o C 03 - 1003 5" 022
m 30— —] 30— I - 30 e
- 1802 n 102 Q 0.3
25— —] 25— —] " — 25
: = : = O 0O ~0.4
20 __I | | 11 1 | 11 1 | 11 1 | 11 1 | 11 1 | 11 1 | | I__ 20 __I | | 11 1 | 11 1 | 11 1 | 11 1 | 11 1 | 11 1 | | I__ t 20 1 1 | 11 1 | 11 1 | 11 1 | 11 1 | 11 1 | 11 1 | 1 1
0 0 0.5
-40 =20 0 20 40 60 80 -40 =20 0 20 40 60 80 |.IJ -40 =20 0 20 40 60 80
x(HMO05Y1_u)(cm) x(HMO05Y1_u)(cm) I x(HMO05Y1_u)(cm)
p—
_ _ Q
/g 6() __I [ L L L L L 1T 1 I I__ 1 /g 60 __I [ L L L L L L [ I__ 1 E /g\ 0.5 :
= F = = F 5 2 F
5 F 7 —09 5 7 —09 - L L e
T | = r 0 o R YN S U N T R T T
nE = 038 N F 4 0.8 o) = 03F
£ 2% 4. E % = N =N 2 N N N N N e
: = : : . > : : . : : . 0 5 .
0 45 = e 45— . . e . ~— Q
O - 1 2 - - e 2 3" s
—— < [ .
© 40 053 40 4 053 c 5
m . 3= n - 3=
o B ] 0.4 qLﬁ :. ': 0.4 qLﬁ .9
N 35 = : 35 . = . o
# = = — B —] L
o C 1§03 N 18503 = 0.2
= s E ET ' ORI L)
25— —] 25— ]
- . 0.1 - ] . 0.1 041
2'()__II|III|III|III|III|III|III|II__ 2'()__II|III|III|III|III|III|IIIlll__ _05:IIIilIIilllilllilllilllilllilll
-40 =20 0 20 40 60 80 -40 =20 0 20 40 60 80 0 2 4 6 8 10 12 14 16
x(HMO5Y1_u)(cm) x(HMO5Y1_u)(cm) Slab# (HMO5Y1_u)

11 Sep 2020 12/18



Residuals of Track Y position in HG (TrigRun)
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Residuals of Track Y position in HG (CaloDump)
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Residuals of Track Y position in HO (TrigRun)
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Residuals of Track Y position in HO (CaloDump)
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Residuals of Track Y position in HM (TrigRun)
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